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'Tlme Three houls ! '_ ' N _' - Maxnnum 100 ma1ks
...... AIlS“’Gl ALL questlons o
PART A ~—(10x2=20 malks) _
F 1. D1ffe1ent1ate Softwale engmeelmg methods tools and plOCEdUlES
- Sr 2 What is EVA? | o o
" | 3. Define Data Dictioﬁafy e i
. o 4. Classify the following as functional / non- functmnal 1equnements f01 a Tlmel
( ' _. ( 5. Llst the principles of a software design, ‘
i ‘ 6. W hich UT design patterns are used for the following:
|

(b) Tables ' | - . IR .
{c) Navigati_on through menus and web pages
(d) Shopping cart. - |
7. Distinguish between verifieation and validation.
8. Diéﬁnguis-lnl between Alp'ha and Beta testing.
i 9. What are the advantages ‘md disadvantages of size measure?

10.  Tor a project XYZ defects reportéd by the customer are 5 and internal defects
repm ted are 150. Find the defect leakage. .



, PART B .__.(5 % 13 = 65 marks) 15. (a) The time estimates (in hours) for the activities of a PER’I‘ netwmk are
11. . (a) Which process model would you choose to manufacture a car? Explain the - given below: ,
' same. Activity to tm
_ . o . Or | 1.2 1 1
(b) What is function pomt analysis? Explam the process of p10]ect estnnatlon ‘ 1-3 1 - 4 7
using function -points. Explain by considering the following: - T S
An JLF consisting of employee information can be updated with Els that 1-4- 2 2 8
~create employee information, delete an employée, or update employee C o 1 1 1
information. An EQ permits display. of current employee information. A : _
: _telephone listing produced monthly, with a calculated total of employees o 3-b 2 b 14
- by site, is counted as ain EO. The telephone listing includes data retrieved - - RN 46 9 :5 8
~~from-a- pelsonnel fﬂe maintained. by. another apphcatwu an EIF. - - oo o S . SO
=12, (a) 3_:What is 1equ11ements ehc1tat10n'? Bneﬂy descube the various act1v1t1es RN s ' ' . S T - L -
e pe1f011ned in 1equ11ements ehcltatlon phase w1th an exampie ;_ S e - ._Whele to is ttxe optnmstlc t1me i, 1o the pessimistic time and t, is most -
. (b) _'3.'W11te the pmpose of an SRS? Llst 1ts components DlSCLlSS in detall the : .' R '< N S '() Draw the prmect netwoxk _ SR
SRR -components of SRS for. functmnal reqmrements _ L TN L
e g ' I IR S R 1 t 11 th th hrt nd 1te CI‘ltha]. ath
13, - (a) ‘(). ‘What . is couphng‘? Explam the dlffelent types of couphng w1th__ el PP (11) den 1fya pa s rough 1t and wr _ p R
o o ';.:examples e SR T (10) o ShnihlT s o 3.:;(}11) Detelmme the expected pro;|ect length e : L
O Procesq contlol component mamtams current data abOut state of:_'[_j-_'.: R S . R T T S L T G
' _'clif:ft?mlznsng{estsngz‘}tlasofigg I?(;::l:;pslivict):;c:frec?lu pfgleiogaﬁtzafz SRR ....... S B _'_"(b) . Descube in detall COCOMO modei f01 softwale cost ostnnatlon Use 1t tq' S
.."stme pEach sink process read&? dnectl from global gata ftore : L IR ~ o lestimate the effort required to build software for a simple ATM that - .
2 Pt Y g? B . produces 12 screens, 10 reports and has 80 software components. Assume
__.What‘) W pe o Of couplmg ex1sts in the system How .can. it be ove31 P SR average -complexity and avenge developei matuuty Use apphcatlon
o .,Come O S ( ) R composition model WIth obJect pomts : =
' (b) :.'.-What is softwa1e alclntectule" Descnbe m detall any thlee alchltectmal___ SRRt I PART C - (1 x 15 = 15 1na1ks) EREER
.styles giving suitable examples, .. ... 0 . : T R ' R
14, (a) - Consider the pseudocode for. snnple subtxactxon gwen below AR el 16.-(a) -.\?Vhat is the IJ“IPOSE Of DFD? Explam the components Of the DFD Py
I i':"(i) “ Program ‘Snnple Subtlactmn : R I o S Construct the context diagram, level 0 DFD and level IDFD f01 a salaly .
:'(;'Vi) ' Tnput (x, ) ( NI (s . ; management system and explam - i
(iii). Output (x) e e _ - Or :
. _Ei‘)')_ gutp ut (}31) Do, L '(b) White about make/Buy decision making. Explain it with a scenario.

®)

vi) x—y= z

- (vii) _Else_yﬁxéz _

(viii) Endlf

(ix) Output (z)

) Output “End Program”.
Compute the cyclomatic complexity for the same. Write' down the test
cases, Pe1f01m basis path testmg and generate test cases. -

What is black box testmg'? Explam in detail Boundauy value analysm
w1th an example. : :
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